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QUESTION 1

Given the following dataset:

100 column=Managers:Name, timestamp=13313141762084, value=Steve 100 column=Manage:Salary,
timestamp=13313141762086, value=80000 100 column=Skills:Skill_1, timestamp=13313141762089, value=Hadoop
100 column=Skills:Skill_2, timestamp=13313141762092, value=HBase How many store files will be contained in your
region(s) immediately following a major compaction?

A. Four

B. Three

C. Two

D. One

Correct Answer: D

QUESTION 2

You have a key-value pair size of 100 bytes. You increase your HFile block size from its default 64k. What results from
this change?

A. scan throughput increases and random-access latency decreases
B. scan throughput decreases and random-access latencyincreases
C. scan throughput decreases and random-access latencydecreases
D. scan throughput increases and random-access latency increases

Correct Answer: A

QUESTION 3

Given that the following is your entire dataset:

100 column=Managers:Name, timestamp=13313141762084, value=Steve 100 column=Manage:Salary,
timestamp=13313141762086, value=80000 100 column=Skills:Skill_1, timestamp=13313141762089, value=Hadoop
100 column=Skills:Skill_2, timestamp=13313141762092, value=HBase

How many regions will be read during a scan of the entire dataset?

A. Four

B. Two

C. One

D. Three
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Correct Answer: A

QUESTION 4

You have a table with 5 TB of data, 10 RegionServers, and a region size of 256MB. You want to continue with puts to
widely disbursed row ids in your table. Which of the following will improve write performance?

A. Increase your buffer cachein theRegionServers
B. Increase the number of RegionServers to 15
C. Decrease your number of RegionServersto 5
D. Decreaseyour regionsize to 128MB

Correct Answer: C

QUESTION 5

Under default settings, which feature of HBase ensures that data won\\'t be lost in the event of a RegionServer failure?
A. AllHBase activity is written to the WAL, which is stored in HDFS

B. All operations are logged on theHMaster.

C. HBase is ACID compliant, which guarantees that itis Durable.

D. Data is stored on the local filesystem of the RegionServer.

Correct Answer: A

Reference:http://tm.durusau.net/?p=27674(See "From the post\\' second paragraph)
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